
B I N G O
find a data set which has...

a range of 16 a standard
deviation of 3

a median of 11

no mode a mean of 20

a range of 78 a median of 36 a mean of 40

a mode of 65

a mean of 10 a median of 15 a mode of 4

N A M E :  _ _ _ _ _ _ _ _ _ _ _ _ _



Data set 1

12, 14, 13, 87, 54, 32, 43, 90, 40, 15

Data set 2

65, 2, 5, 66, 8, 65, 11, 10, 12 

Data set 6

9, 2, 5, 4, 12, 7, 8, 11, 9, 3, 7, 4, 12, 5, 4, 10, 9, 6, 9, 4

Data set 5

9, 18, 45, 76, 17, 13

Data set 4

4, 17, 4, 6, 6, 16, 4, 19, 4, 20

Data set 3

80, 2, 40, 8, 30

Data set 7

18, 2, 3, 4, 4, 5, 6, 4, 8


